Powers

1. Complete the table.

	Base
	Exponent
	Power
	Value

	a) (–10)
	4
	
	

	b)  5
	
	
	125

	c)
	2
	
	49

	d) (–2)
	
	
	–128


2.  Represent 1024 as a power with the following bases.

a) 2 ________ b) 4________
c) 32 _______

3.  Fill in the missing exponent.

a) 3       = 81 

b) (–3)         = –27

c) (–2)         = –32

d) (–1)         = 1

e) 17           = 17

f) (–4)         = 256

g) (–1)            = –1

h) 7         = 343

i)10       – 1 = 99

j) 5 
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 2        = 160 
Zero and Negative Exponents

4.  Express the power using a positive exponent and calculate. 

a) 10–4 _________ b) 3–2
____________

c) 7–2___________ d) 2–5
____________

e) (–2)–3 ________ f) 
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5.  Insert <, >, or = to make a true statement.

a) 50 _____ (–6)0

b) 10–1 _____ 0.001

c) 4–2 _____ 4–1

d) (–2)–3 ____ (–2)–4

e) 2–3 _____ 3–2

f) –90 _____ 90
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